Surds and Brackets |

AT
1 Expand and simplify v3(/6 + 5)
fig + 53
= {Ax{z + s{2
= 2AxJZ + S{?

2 Expand and simplify v/3(3—+/10)

2{s - {So

s - {15 xJ2
= 3@— S x |1

(

3 Expand and simplify v/8(v2 +/3)

[le + 4o

= 4 +{¥ xJlo
2 x{1o

- 4 +

4 Expand and simplify V6(v/8 + v2)

Jwe + Tz

= b x {3 + Jkx |3

= {3 + 20
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A2 + SV

(Total for Question 1 is 2 marks)

25 - sy

(Total for Question 2 is 2 marks)

For the entire booklet — ®)

L+ 20\

(Total for Question 3 is 2 marks)

43

(Total for Question 4 is 3 marks)
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5 Expand and simplify (v2 + 1)(v2 + 3)

2+ W2 +{2+ 3

S + &L

(Total for Question 5 is 2 marks)
6 Expand and simplify (v/5—2)(~/5 + 6)

S + 6{s - 205 -2

15 - F

(Total for Question 6 is 2 marks)

7 Expand and simplify (7 —v2)(2 + 10)

7{L +30 -2 -I0J7

68 - 3L

(Total for Question 7 is 2 marks)
8 Expand and simplify (V11 + 1)?

tm +|\(\F\T+\\
= L+ W+ o+

2 + 10

(Total for Question 8 is 2 marks)

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

u y r@ @1stclassmaths

9 Expand and simplify (3v6 + 4)(2v6 - 5)

6% — I1S{6 +816— 20D
= 6x6 — F{6 - 20
= ¥ -206 - 20

\6.— 3¢

(Total for Question 9 is 3 marks)
10 Expand and simplify (V6 +v2)(v6 —2)

6 -z + (L -2
— 66— 2

i

(Total for Question 10 is 2 marks)
11 (vV3++2)(W10-2) =kv2 wherek is an integer.
Work out the value of k.

{so —2{s + {20 - 20
= NS xVZ = LIS + &S - 207

ST - 205 + )% - 207

{2

nol

(= AN

(Total for Question 11 is 3 marks)
12 (2v/3 +5)(3V3 +5) =a+bv3 where a and b are integers.
Work out the values of a and b.

694 +10V2 + IS{? + 25

= 18 + 2s{® + 28§
= 43+ WS {? N 42
b= 25

(Total for Question 12 is 3 marks)
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13 V2(+/8 +5) + 5(3 —V18) = x —yv/2 where x and y are integers.
Work out the values of x and y.

{6 + S{7 +1S -5 ig
= 4 + S{2+18=-5x(q x\{7
= 4 + S +18 - Sx23x{2

=4 + sS85 - 182
- (49— 107 SR

y= \O

(Total for Question 13 is 4 marks)

14 3V5(\/15 +/5) + V6(v/8 +v24) = p + /3 where p and q are integers.
Work out the values of p and g.

35S + 30s + g + (g
= Ix{sx {3 + x5 +{bx 3 + (2
= {2 + \g + 4R ¥+ 12
= P+ Al
= X

TR b

(Total for Question 14 is 4 marks)
15 Expand and simplify (V3 + 4)3

(T +4)(F+9( 7 +w)
= (34t 1l Al (3 +4)
= (14 +83 (T +4)
= 14\ F 36+ 4 233
= \0O+ S

100 + S
(Total for Question 15 is 4 marks)
4
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16 Show clearly that (v3 +2)2 + (5 — 2/3)2— (8 —+/3)? is equal to an integer.

(Br)=2+23 + 203 +% = F + 43
(S—23) =25 -10/T- 103 + 12 = 33 -201%
B—T) = 64 -33 2@ +2 = 6F —16f

(F+ud) + (=101 — (67 —6R)

= F +4(1 +3- 103 -6+
= =013 C'\v\’&eaw\

(Total for Question 16 is 5 marks)
V10(V2 +V10) + V3(5V12 + V15)

17 =a++/5 whereaisan integer.

(V7 +V2)(V7-2)

Work out the value of a

w+10+5 +1%5 = 2[S +10 +30 + 35
F-UF +LF -1 S

= 40 + SIS
S

= % +1S

- %
' (Total for Question 17 is 6 marks)
5
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